Precalc takeaways Name:
Algebra 2 Unit 3: Number Systems and Operations

Learning targets

3.11can add, subtract, and multiply polynomials. (Algebra)

3.2 I can expand powers of binomials quickly using Pascal’s triangle. (Algebra)

3.3 I can divide polynomials. (Algebra)

3.4 1 can factor any quadratic polynomial. (Algebra)

3.5 I can add, subtract, multiply, and divide complex numbers. (Algebra)

3.6 I can explain which number systems are closed under which operations. (Reasoning)
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Adding and subtracting complex numbers
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Closure of a number system under an operation
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